
Review Signed Numbers – Practice Problems 

1 −30 + 70 =  
2 −80 + 30 =  
3 100 + (−40) =  
4 30 − 200 =  
5 −30 − 50 =  
6 20 − (−40) =  

7 −30 − (−60) =  
8 −2 − 4 + 5 − 7 + 4 =  

 
 
 

9 (−3)(−2)(−1)(−1)(2) =  
 

10 (−5)(−2)(3)

(6)(−5)
=  

 

11 4 − 3(5 − 2) =  
 

12 −3 − 4(2 − 5) =  
 

13 3 − 2[4 − (2 − 6) + 3] + 10 =  
 
 
 
 

14 −24 + 10 =  
 

15 Evaluate for 𝑥 = −2 𝑎𝑛𝑑 𝑦 = 3:   𝑥 − 2𝑦 + 𝑥2 
 
 
 

 

Answers: 

1 40 2 -50 

3 60 4 -70 

5 -80 6 60 

7 30 8 -4 

9 12 10 -1 

11 -5 12 9 

13 -9 14 -6 

15 -4   

 


